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1.Uh gehleieR o 15 foham =it 3R 20 fha.
3g ShARM: I50/fham. 3R * 75/fkam. Frex @
TlieT| doe W 38 el W 10% ofrer 3R g
T 20% I FIed §3T| 36H Pl fasha 7o
Fa7 §?

A. 2,550 B. 32,625
C. %1,800 D. 1,575
Sol. el faha Hea
110 120
=15X50 X — +20X 75X —
100 100
= 825 + 1800
= 2625

2.25% Ucdhlgdl alell Ueh Tdoidel Sallel & TolT
48 TR olicX Tohlgdd H Ul &7 fohdeT HAMET

AR S aTfgu?

A. 48 B. 64
C. 144 D. 192
Sol.

AT Hel & 100%
Fodplgd = 25%, I = 75%
gH S g,
48 % =25'75
X = 43”?5=144ml
25
safoT fawey C TEr &

3.5 dieX A & AHOT H 6% AT §, 3TH
¥ 1 e Uel 89 &7 Sar g AW Fsor &
At 1 gfaRra A1 HY|

(A) 5% (B) 7.5%
(C) 6% (D) 4%
A. (C) B. (D)

C. (B) D. (A)

Sol. Sugar in the initial mixture = 6/100
x 5=0.3

Now since 1 Itr water vaporises

So percentage of sugar in final mixture =
0.3/4 x 100 =7.5%

4. Th 9o 7 240 fAHOT §, 59 fAAOT A gy
AR 9=l T AT HAWM: 5: X B, 7 9T &

$

gradeup

48 iex AT Ader Jar § 3R & 3
g P & SMET ST 81 59 9T P A 12 ofiex
arel e § dr g AR arel & 3feand 2: 1
8T &, X &7 HAT AT HifAv]

A1l B.5
C.3 D. 2

Sol. Amount of milk in 48 litres of mixture
5 240
= — % 48 = — litres

S5+4x S54+x
So, amount of water in 48 litres of
. 48x .
mixture = — litres
2+x
According to the question,
240 [{ 481‘}_'_ 12] 9.1
54+x s +x '
240 [[ 96x }+ 24]
5+x W5+x

240 =96x + 120 + 24x
120x = 240 — 120 = 120
120

B 1
120

X
5.y 3R 9wl & ar Aol & qu & Figar
HAU: 48% 3R 84% §, ¢ Ao 60
gfderd gy T Algdr arelm AT IR fRar
S1ar &1 38 AT @ 12 el gl arer 919
A fAemar Srar g1 I8 9 Jrar § R gy A
B0 Ao & ae g T Figdr 50 gfaRid
gl St 81 48% Higal dret g & faAsor &

AT &Y IS AT AT |
A. 48 litres B. 40 litres
C. 36 litres D. 54 litres
Sol.
45%\ / 848

60%
24% 12%

Ratio =24: 12 =2:1

Ratio of 48% solution and 84% solution
mixed in 2: 1

Let, amount of milk and water in 60%
solution is 3x and 2x (litres)

According to the question,
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3x 50
2x+12 50
Ix=2x+12;x =12
So, amount of milk in the solution = 3 x
12 = 36 litres
And, amount of water in the solution = 2
X 12 = 24 litres
So, amount of total mixture = 36 + 24 =

60 litres
Therefore, amount of 48% milk solution

used = g x 6 = 40 litres

6.25% 3IR 60% HIgdT aTel &r &R faerg=it st
e 3T 7 AT Ed 30% digdr arer

&R faorIsT e g Sre?
A.6:1 B.7:2
C.5:1 D.4:5

Sol. = According to the condition given in
the problem,

25\ / 60
30
/7 \
30 5
= Ratio=6:1

7.A can contains a mixture of two liquids
A and B in the ratio 7 : 5. When 9 L of
mixture are drawn off and the can is filled
with B, the ratio of A and B becomes
7 : 9 L of liquid contained by the can

initially was
A. 10 B. 20
C. 21 D. 25

Sol. Let the mixture of two liquid be 7x
and 5x.
If 9 L of mixture be drawn,

Then, liquid

A,?’X—Q:{L =?’x—& =?X—EL
7+5 12 4

and liquid

B,5x-9x_>_ —5x-22 _5, 12
7+5 12 £

When 9 L mixture is mixed in B, then the
quantity of

$
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B-lsx-12_.g'L
L 4 )

According to the given condition,

21
Tx - ==
a7
15 ) 9
Sx--——+9
.4
630182 L35 1955
= 63x-35 =—_155— 3——13:3
~ gy _ ~105+252+189
4
_ g, _ 336 84

—84=x-2"_3
28

-~ Qunatity of A=7x=7x3=211L

8.40 WY & ¥ U9 Ul & Uah fAAUT H qu &

ATeil T 39T 7:1 | Q4 T UTeil ol 37T
3:1 ST & forw, AT & AT Sy arelr areir

Fr AT (Sfrex H) g afge?
1

6 —

A. 6 B. 3
2 3
06— 6
C. 3 D. 1

Sol. Let the quantity of milk=7x
Quantity of water=1x

7Xx+1x=40

x=5

Milk=35L and water=5L

Let 'a' liter water be mixed in the solution
35/(5+a) = 3/1

35=15+43a

3a=20

5
a=6§
9.ueh fAHOT & g R Il 1 3HeureT 5:1 g
fAH0T & 5 feX gl A & a1g I8 3Heurd
5:2 g SIar g1 IR # A1 & g fr A
ASA?

A. 22q. B. 23e.
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C. 25z D. 274,

Sol. AT g 3R drelr AT FHAA: 5x AR
X oliex gl

dd, 5x / (x +5) =5/2

~ 10x = 5x + 25

~x =5

- G &I AN = 5x =25 X

10. GIeT# T 3 8 ¥ aIg 3HS fUar &I 31g
1 el grelt | 8 A Ugel 3ol 3T I IHeTdTd
1:39 | € & Oar & adA= Ay Ad
ST |

(A) 48 (B) 56
(C) 36 (D) 65
A. A B. C
C.D D.B
Sol.

Let the age of Sonam = x
Then after 8 years, age of Sonam

=x+8
His father’s age after 8 years
=2(x+8)
AT.Q.

x—16+8 1
2x+16—-16 3
3x — 24 =2x
x =24
Present age of father
=2x+16—-8
=2x+8
= 56.

11.IR-IR et & R W o fov 30 IR’
gt T 3AT F ART48 IV § | I BIC I

$r 37 &1 TR HfFT |

(A) 4 a¥ (B) 5a¥
(C) 6 a¥ (D) 7 Ay
A. (A) B. (C)
C. (B) D. (D)

Sol. Let the age of youngest child is x yr.
According to question,
X+Xx+4+x4+8+x+12=48

4x+24=48

x=6

So, age of youngest child is 6 yr.

$
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12. @ #msat 1 3HT T T 5:8 § TH
3T 3HT FT 3R 12 a¥ § | 3T 35 Ad
FfaT |

(A) 20, 32 (B) 16, 28
(C) 18, 30 (D) 22, 34
A. (B) B. (D)
C. (A) D. (C)

Sol. The ages of two brothers are 5x and
8x.

Given that , 8x-5x =3x

And 3x =12

X =4

So, the age of brothers are 20 year and
32 year.

13. G 39T g § 25 a9 q9T 8| 5 9 q1G 30T
37 qF & 3H H QA g1 S| aaA 4 3

as§ a1g AT Hr 37 4T gref?

(A) 20 (B) 23
(C) 45 (D) 48
A. (B) B. (A)
C. (D) D. (C)

Sol. Sons age = s
Surya's age = X

x=25+s

Also x+5 = 2(s+5)
30+s = 2s+10
s=20

X =45

In 3 years surya's age will be x+3 =48

14. The ratio of present ages of two
persons is 3 : 2 and 10 years back the
ratio was 2 : 1. What will be the ratio of
their ages after 5 years?

A.4:3 B.7:5

C.5:2 D. None of the above

Sol. The ratio of present ages of two
persons = 3:2

10 years back theratiowas =2 : 1

The gap in ratio is of 1 so here 10 year=1
5vyear =12

Ratio after 5 years = 3+ V2: 2+ 14 = g:

2 =7:5
2

15.The present average age of a family of
four members is 36yr. If the total age of
the family before 12yr was 96 and the
fourth member was born 12 years ago.
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Find the average age of the family before
the birth of the youngest member?

A. 48 yr B. 40 yr

C.32yr D. 24 yr

Sol. Total age of 4 members

= 4x36 = 144 years

Total age of 3 members before 12 vears
=144 -4x12

=96years

96
Regd.average age = 3 =32

16.The average age of 30 number is 12.
The average of the first 20 of them is 11
and that of the next 9 is 10.The last
number is

A. 60 B. 45
C. 40 D. 50
Sol.

Sum of 30 numbers =30x12 =360
Sum of 20 number =20x11=220
Sum of next 9 numbers =9x10=90
last number =360—(220+90)=50

17. 0 & YT 1 Y AH T Yoall T 3
1/3 81 TH Y Teolt Y Y I T 31Y FT 4/5
€ 3R T &1 I TH & e F 3G & 3/5 F
SR g1 AT I & A & 3mg 50 a9 g, ar

38h I I 3 AT A
A. 8 ay¥ B. 10 a¥
C.12 a9y D. 6 a¥

Sol. IH & T #T 3 50 av g
gafaT I T 3 = 30 a¥

TH &1 Ul T 3 = 4/5 x 30 = 24 a¥
UH & G133 = 1/3 x 24 = 8a¥

18. 4 a¥ & I U AT YT 9T T 37 & IR
ay q1g &1 37 & al I & SeT g Sua |
3eTehl 38 T AT 46 §| 9 & FiAT 37 F41
g?

A. 14 g1
C. 16 I

B. 15 Aol
D. 348 & & =gl
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Sol. §& & IdATT 3F X T § , I 3GHT Al
# 37 = (46 - x) T
4 ga 9,
& 37 = (x + 4) I 3R
AT T 37 = (46 - x + 4) Fel = (50 - x)TTA
R & IHTAR
50 - x=2x(x+4)
= 50-x=2x+8
= 3x=42

= X= %=14year‘s

e FT gIAT 35 = 14 years ATl
safaT fawed A T8 &

19. T& SAFA 3797 9T § 26 a9 F97 ¢ 3 a9
are IHA Y I T AT A A 3 I 8
SITeaft| AT T aciAT 3G Ad |
(A) 10 a¥

(B) 36 a¥
(C) 32 a¥
(D) 40 a¥
A. (C) B. (A)
C. (B) D. (D)

Sol. Let the age of man and son is x & y
respectively

X-y =26 ... (i)

and x+3 = 3(y+3)

X + 3 = 3y+9

X = 3y+6 ...... (i)

from equation (i) and (ii)

2y =20

Y =10

X = 36 years

20. TH N IAAT 3H 3T GF A dAATA 3H
&1 TR TN 8| 5 aY gl TH S 3H 3oh IF
N 3H FHT AT 3H BT AT g S| Serehr
AT 37 T 82

(A) 60 T 15 (B) 40 Tg 10
(C)20Ta 5 (D) 3219 8
A. (D) B. (B)
C. (A) D. (C)
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Sol. let,

The present age of Ram’s son be =x,
The present age of Ram's son be =y
Given =4X = Yy ....o..ee. ()

Again,

3(x+5)=y +5

3Xx+15=y+5

3x +15=4x+ 5 ......... (from eq. (i)

x =10

Hence, there Present ages of Ram and
This son are 40 years and 10 vyears
respectively.

21.am3ﬂ1$ﬁa£raémaa1'g$ra’m42
€1 5HT a1, 37hT 3Mg &M anupat 15: 1181

il T TTHTT T TATSA?
A. 17a¥ B. 24a¥
C. 253y D. 22a¥

Sol. Let X and Y be the present ages of
Varun and Kapil respectively.

X+Y =42 ... (1)

After 5 years

(X+5) : (Y+5)=15:11

11(X+5) = 15 (Y+5)

11X+55 = 15Y+75

11X = 15Y + 20

X = (15Y+20)/11 ..... (2)

By equation (1) and (2)

(15Y420)/11 + Y =42

15Y4+20+11Y = 42x11

26Y+20 = 462

26Y = 442

Y= 442/26 = 17

Hence present age of Kapil = 17 Years

22.TH, IH 3R Hgsl HT aoHAT NG H
T 6: 7: 9 & 3R 2T, Algol 3N WgeT
1 3 T IeUreT 8: 5: 3 g1 IS @ger &r
g 54 ¥ §, ar o=\ AR Age B Iy &
T F T R AT B

A. 33 B. 22
C. 24 D. 36
Sol.

A.T.Q

$
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Ram Shyam Mohan  Sohan

6_ 7 6
A
8 5 3

43 56 : 45 : 27
Let the age of Ram, Shyam, Mohan and

Sohan is 48x, 56x, 45x, 27x respectively.
Given 27x = 54

X =2

Required, difference in Shyam and
Mohan’s age =

56x - 45x = 11x

= 22 years.

23.4 ¥ Ugel 37T I 317 3R 4 Y & a1 Q2
&Y 3G T I 1: 1§, TAATT F 3oThr 31
&I 3eqaTdd 5: 3 Bl 4 a¥ a6 3 i 3y 3R
4 9§ Ugel VAT T HY T AT AT HIfAT|

A. 1:3 B. 3:1

C.4:3 D. 3:4

Sol.

Currently, the ratio of their ages is 5:3.
Suppose, their ages are:
5x and 3x

respectively
Asha’s age 4 years ago = 5x — 4
Aisha’s age after 4 years = 3X + 4

Ratio of Asha’s age 4 years ago and
Aisha’s age after 4 yearsis 1:1

Therefore,
5x — 4 1
3x+4 1

Solving, we get x = 4

We are required to find the ratio between
Asha’s age 4 years hence and Aisha’s age
4 years ago.

5x + 4

Aisha’s age: 3x — 4
Putting the value of x, we get:
5x+4 3

3x—4 1
So, ratio will be 3:1

Asha’s age:

24.12 aY Y4 Ueh cTied T Y 38k IF I
3G &1 4 T[T Y| 3T W 2 aY 1 Al B 3G I
Y 3T Y AT I[AT g1 SITean | Afe; e r 3y,
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A T I A 9 I 3R ¥, A T A A

Y AT 82
A. 60 B. 40
C. 50 D. 30

Sol. let age of son be x and father be 4x
12 years ago

12 years hence age of son = x+24

Age of mother 12 years hence = (x+24)3
= 3X+72

Present age of mother = 3x + 72-12 =
3x+60

Present age of father = 4x+12

According to question

4x +12 = 3x+60

C.x=48years
Age of son = 48 +12 = 60 years

25. A 3R B &1 ad@A= Mg 3R A 3IRC &r
AT 3T T 3fefurdl shAT: 5:731)1:2 31 3
A & S=H & AT B 3R C & 3Mg &7 AT 35

ay o1l A &Y FIAT 3T FAT SHIioTul
A. 253y B. 35 ay
C.50ay¥ D. 40 a¥
Sol. Ratio of present ages :
A:B=5:7

A:C=1:2=5:10

So ratio of ages of AB and C =
A:B:C=5:7:10

Let the common ration = x

So present age of A=5x

Present age of B =7x

Present age of C =10 x

At the time of the birth of A,

Age of B =7x-5x=2x yr

Age of C=10x-5x=5x yr

Sum of ages of B and C = 2x+5x=7x
According to question,

7x=35

= Xx=5

So present age of A =5x=5*%5=25 years

26. A 98T T&IT AT ™ 58 400, 445 3R
541 ¥ QAT ¥ W AP & T H 9, 20

3T 14 FTar B
A. 18 B. 19
C.17 D.9

Sol. Firstly, we will have to subtract the
respective remainders out of the
numbers:

o
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So, the numbers will be:

400 -9 = 391

445 - 20 = 425

541 - 14 = 527

Now the required number will be the HCF
of these numbers:

HCF (391, 425, 527) = 17

So the number is 17.

27. 3fe 10-3ifhT @&ar 67127y76x2, 88 &
amrea &, ar (7x- 2y) FT AT gem:

A. 10 B. 7

C.3 D.5

Sol. For divisible by 88, the given number
should be divisible by 11 and 8 both.

For divisibility by 8

6x2 should be divisible by 8

So, x will be 3.

For divisibility by 11 difference of sum of
odd place digits and sum of even place
digits should be zero or divisible by 11.

= (6+1+7+7+x) - (74+2+y+6+2)

= (21+x) - (17+y) = 4+x-y

By putting x=3, 4+3-y =7-y should be
zero or

Multiple of 11

So, y=7

So, 7x-2y=7 x 3-2x 7 = 21-14 =7

28.7f¢ T 10-37hT T&AT 1330x558y2, 88

a fQarsT &, (x+y) T AT gem =

A. 6 B.8

C.9 D. 7

Sol. 1330x558y2 is divisible by 88 so it
must be divisible by 11 and 8

For divisibility by 11

X+y+9-18=0 or multiple of 11

By taking the above expression equal to
0 we get

X+y=9

29.3f¢ e 9- 3ifhy T&aT 32x4115y2, 88
q AT §, A9 y & HATAd #golad Al &
T (4% - y) & AT g

A. 31 B. 20

C.-1 D. 11

Sol. For divisibility by 88, number should
be divisible by 11 and 8 both.

For divisible by 8 last 3 digit of the
number (5y2) must be divisible by 8.

So, the value of y can be 1,5 and 9.
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For divisibility by 11, difference of sum of
digits at odd place and sum of digits at
even place must be zero or divisible by
11.

So, (114x) - (7+y) = 0 or multiple

For the smallest value of y, y=1
11+x-7-1=0

3+x=0

so, only one value of x that is x=8 will
satisfy the equation.

By putting y=1 and x=8

(4x-y)= 31

30. IfE HE&Ar 97215X6 QI g & 11 &
TS § ar X & i teicd FeT dTell 37 AT
H|

A. 2 B. 3

C. 4 D.5

Sol. & 715 I&AT &: 97215X6

11 & Qreadr Fad ¥ g7 ured < &
(6+5+2+9) - (X+1+7) = (14 - X)

gl 14 - X 1 11 & fasmsx g aifew,

“X =3

31. 9§ HIH DI T&AT FT &, OH 4 i
$r god T TEIT H A5 I AHA 345 F

enfaa & a&ar g?
A. 50 B. 6
C. 60 D. 51

Sol. The largest 4-digit number = 9999
345)9999(28

690
2099
2760

339
.". Required number = 345 — 339 =6

32. 2% - 1 fraw ol & -

A 11 B. 13

C. 17 D. 19

Sol. 2% -1 = (28)2-1

= (28+1) (28-1)

= (256 + 1) 1256- 1)

= 257 x 255 which is exactly di-visible by
17.

$

gradeup

33. 755 # 16808 T HIIT ¢af U UIed gled dTel

Aol &I IUTAT H |
A. 16807 B. 6
c. 7 D. $3 | FIg Tt
Sol.
=413
™ (7]
16808 16808
_ (16807)" _(16808-1)" C(c1)® =1
16808 16308

Hence, the remainder when 7% is divided
by 16808 is equal to -1 or 16808 - 1 =
16807.

34.If 738A6A is divisible by 11, then the
value of A is
A. 6 B. 3
C.9 D.1
Sol. As 738A6 A is divisible by 11.
We have, if a number is divisible by 11,
then the difference of the sum of digits at
odd places and the sum of its digits at
even places, is either 0 or will divisible by
11. Therefore,
A+A+3=06+8B+7

2A =21-3

24 =18

A= E =1

-

35. 1008 &I g Tl 3/ & & faefaa

oA W Teh a7 qOT HE&AT JIed giell 872
A.9 B. 4
C.8 D.7

Sol. Take option (4),

1008 divide by 7 = 1008/7 = 144
144 is a square of 12

Now, take option (3)

1008 divide by 8 = 1008/8 = 126
126 is not a square of any number.
Take option (1)

1008 divide by 9 = 1008/9 = 112
112 is not a square of any number.
Take option (2),

1008 divide by 4 = 1008/4 = 252
252 is not a square of any nhumber.
Hence, the answer is 7
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36. Ueh J&AT H 280 & H9T & 9T 115 AY
grcd giar &1 Sid §&ar H 35 § H19T T Sirar §

ar Qv g Hifee?
A. 15 B. 10
C. 20 D. 17

Sol. Here, 280 is a multiple of 35.

~ Required remainder

= Remainder obtained on dividing 115 by
35 =10

37. =@ § O #ia O g=ar 1184 &
gl Sl wifgr e g 21 @ gl

enfara g sre?
A. 15 B. 12
C.8 D.7

Sol. 1176, 21 & yoia: fasnfaa § safaw
(1184-1176) = 8, &I 1184 ¥ HT AT

B

38. 39k U 20 F3 JAUT 16 S ARAT §
JAT ST YR &7 SARAT & 3T 3UGR FTATAT
IEd & | e et sy 1 2 319 3ifReae
fFdel 3UBR &eT Thd g7

(A) 5 (B) 4
()3 (D) 2
A. (C) B. (B)
C. (A) D. (D)

Sol. maximum present = HCF of (16,20)
=4

39.1265 & & @i O g8 T T&IT "erdy
S arfes aRomedr g 29 @ qofa: fasrsy
g

(A) 15 (B) 16
(C) 18 (D) 17
A. (C) B. (B)
C. (D) D. (A)

Sol. We can write 1265 =43 x 29 + 18
So make the number divisible by 29 we
have to subtract 18

40. 98 B ¥ B & Ad fifew Gaw
16, 24, 36 dur 54 ¥ fasnfoid & W AW

A 12, 20, 32 3R 50 s=ar g
(A) 432 (B) 444
(C) 428 (D) 452

o
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A. (B) B. (A)
C. (D) D. ()
Sol.

Since the difference is constant (16-12),
(24-20),(36-32),(54-50) = 4

Required number = LCM (16,24,36,54) -
4 =432 -4 =428

41. 9g G B §&T ST A e 3P ar
o % feArT S A ar 12,18,213R 30 &

fFanfara g I
A. 2520 B. 1260
C. 630 D. 196

Sol. Let 2X be the number exactly
divisible by 12, 18, 21 and 30.

12 = 2%x2x%x3

18 =2x3x3

21 =3x%x7

30 =2x3x%5

L.C.M. of 12, 18, 21 and 30 =
2Xx2x3%x3x5%x7 = 1260

Hence 2X = 1260

=> X =630

42. 1739 # &7 ¥ &H AT AT A0 F IJg
11 & qoia: fasnfaa gr sme?

(A) 11 (B) 2

(€)1 (D) 10
A. (C) B. (A)
C. (B) D. (D)

Sol. Divide the given number by 11
1739/11 gives 1 as remainder , so to
make the number divisible by 11 we need
to add 10 to it.

43. U TEIT YOTlell H, 11509 FI T J&AT
A QST el T Fher &l HETHeT 71 3R
AT 7 YIed gl & | stk T g7

(A) 132 (B) 172
(C) 182 (D) 162
A. (D) B. (A)
C. (B) D. (C)
Sol.

44, 9g 9 ¥ 9 g A9 Hod TF
9893ilx 1327 ¥ Asnfad &= W HAA: 53X

7 A9 FA?
A.8 B. 16
C. 24 D. 32
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Sol. Let X be the number s. t.

989 = aX+5 - aX =989 - 5 =984
1327 = bX+7 - bX = 1327 -7 = 1320
984 = 2x2%x2x2%x3x41

1320 = 2x2x2x3%x5x%x11

HCF of 984 and 1320 = 2x2x2x3 = 24
Therefore X = 24

The greatest number which when divided
by 989 and 1327 leaves remainder 5 and
7 respectively is 24.

45.The number nearest to 10000 which is
exactly divisible by each of 3, 4, 5, 6, 7
and 8 is

A. 9240 B. 10080

C. 9996 D. 10000

Sol. First take the LCM of
3,4,5,6,7,8=840

Dividing 10000 by 840 we get
remainder=760

Number nearest to 10000 will be 10000-
760=9240

And 10000+(840-760)=10000+80 =
10080

Thus there are two numbers

$

gradeup

46. A prime number is the number which
is divisible

Al B.2

C. itself D. 1 and itself only
Sol. A prime number is a positive integer
that has exactly two distinct whole
number factors (or divisors), namely 1
and the number itself.

47. 1739 & B A ST i A J&IT S ST

arfes g 11 & qoiaar [Jsnfaa & s
A. 11 B. 2
C. 1 D. 10

Sol. 1739 &I IRE & FATfAd T W, g
AY = 1 Aear &

AT 10 SIS W gH 9§ H&AT 9Ied grem i
11 & fosnfaa gefri.e. 1749

dwfeus adier:

11 & qofaar fasnfara g = (1+3)-(7+9) &
ar 0 & SR &1 a1 11 & fasnfaa gl

safaT (749)-(1+4)= 11
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